EEEAHE R
®REMEEE — MSQC , MSQL ,MSQE %7l CHELIC PNEUMATIC

© MSQC &5l #F{REILETE ()

NHIFRE
BER | F& #Hig | BANEEE | Z=2
il A B C | @G | L
@D | Re (PT) = H mm2 (9) sQO
BBERY
@4 | M3x0.5 | MSQC 4-M3 | 35 |152 | 39 | 8 | 169 | 8 1.33 2.8
M5x0.8 | MSQC 4-M5 | 35 |151 | 39 | 8 | 169 | 8 4.91 3.3
Q MsQ[]
1/8 MSQC 4 — 01 6 |114 | 39 | 8 |145| 10 6.16 52 || wypmmm
e @6 |M5x0.8 | MSQC 6-M5 | 4 | 16 | 39 | 8 | 181 | 10 4.91 4.3
'_qa‘ 1/8 MSQC 6 - 01 6 |139 | 39 | 8 |171| 10 15.9 7 SP[]
r«g N HEEEE
B HHIRE
T o — g N o = =
« L @ | FE pit A B | c|oc| L |HB muEEE EE| o,
m @ @D | Rc (PT) H mm (@) EERE
— 5/32" | M3x0.5 |MSQC 5/32'-M3| 35 | 152 | 39 | 8 |169 | 8 1.33 2.8
< S N—— M5x0.8 |MSQC 5/32"-M5| 35 |151 | 39 | 8 | 169 | 8 4.91 33 | sQrRO
R 1/8 |MSQC 5/32"-01| 6 |11.4 | 39 | 8 | 145 | 10 6.16 52 || iEm
sQ1G
O MSQL #R5 H{RLBY$EEE EhsHEE
NHIFRE
P pun 3 fee £33 -
BE | FE - Als lclelosl L | e [sxeEn 258 | mus
@D | Rc (PT) H mm? ()]
@4 |M3x05 | MSQL 4-M3 | 3 |156|115| 14 | 9 |123| 8 1.33 3.7
M5x0.8 | MSQL 4-M5 | 35 |16.1 |115| 14 | 9 |129 | 8 3.8 4
= 1/8 MSQL 4-01 | 6 |183|115| 14 | 9 |16.8| 10 3.8 7.9
@6 | M5x0.8 | MSQL 6-M5 | 3 |19.7| 13 |165| 11 |157 | 10 4.91 71 | gsc
. 1/8 MSQL 6-01 | 6 |19.1| 13 |165| 11 |19.1| 10 15.9 78 || mzm
*j‘c 550 1
)
— BE | F@ e EubEE EE | o
i £ B A | B C E |@G| L = EF
@D | Rc (PT) H mm? ()]
| |5/32" | M3x0.5 |MSQL 5/32" - M3| 3.3 |165| 45 | 11 | 8.6 | 138 | 8 1.33 37 || quo
M5x0.8 |MSQL 5/32" - M5| 3.3 |17.3 | 45 | 11 | 8.6 |148| 8 3.8 4 Ry
/8 |MSQLS5/32"-01| 6 |17.9| 45 | 11 | 86 | 168 | 10 3.8 7.9
Qv
satt g3 — 3 e HAZBIR
©C MSQE R5l RRTRH=FES
QST
NHIRE R
P N R
[ =
st C | @d | B1 | B2 | g |FUMER  HE
@Dl | @D2 mm © .
PU &
@4 @4 MSQE 4 - 4 4 3 11 3 9 5.3 3.7
6 26 MSQE 6 — 6 4 3 125 | 35 19 15.9 7.1
26 @4 MSQE 6 - 4 4 3 125 | 35 11 5.3 5
RHIFRE
B BREEE 2
1)
201 | 202 25 C @d =1 E2 2G mm? ©
5/32" | 5/32" |MSQE5/32"-5/32" 4 3 11 3 9 5.3 3.7

5-1.27



EERAH R

#IREEE - MSQT , MSQH ,MSQR %7l R A e RER R 1
© MSQT &5l FRMRTRZHEIEE
NGRS
BE | FE . e SREEE| =22
L A B (© E G L
@D | Rc (PT) = 2 H mm2 9)
a4 M3x0.5 MSQT 4 - M3 3.3 |16.6 | 10.6 | 14 14.8 1.33 3.7
M5x0.8 MSQT 4 - M5 3.3 |16.6 | 10.6 | 14 14.8 3.8 4
1/8 MSQT 4 -01 6 19.4 | 106 | 14 17.8 10 3.8 7.9
6 M5x0.8 MSQT 6 — M5 35 |19.8 | 12.1 | 15.8 11 | 16.9 10 491 7.1
1/8 MSQT 6 —-01 6 21.2 | 12.1 | 15.8 11 | 18.6 10 15.9 7.8
i
I
| mq BRI
H = F y e SREEE| B2
M - @D | Re(PT) il A | B | C|E |@G|L " 2 @)
5/32" | M3x0.5 | MSQT5/32"-5/32" 3.3 | 16.6 | 10.6 | 14 9 14.8 8 1.33 3.7
© MSQH #5l #RMRBI T EETE
REIRE
B EREEE =
1)
il = B €, Cc2 E G L o ©
a4 @4 MSQH 4 - 4 10.6 10.6 11.3 9 22.5 5.3 3
26 @4 MSQH 6 — 4 12.1 10.6 12.7 11 25.3 5.3 7
26 @6 MSQH 6 — 6 12.1 12.1 12.8 11 25.6 15.9 5
rL,
I BEHIR A
gﬁ% B e g & AREEE | B
~ = s ﬁ E
1)
o | P g o1 o FidEae C1 Cc2 E G L R )
5/32” 5/32" |MSQH5/32"-5/32" 10.6 10.6 11.3 9 22.5 5.3 3
© MSQR &5l #RMB " EMRiRIEE
DERE
BE | FiE izt 1l c2| E oo | L |HE | e axwEs =8
@D | Rc (PT) H1 H2 mm?2 Q)
a4 M12x1 MSQR 4 -4 10.6 | 3.9 |16.1 9 39.7 14 14 53 7.1
@6 M12x1 MSQR 6 -6 12.1 | 3.9 |16.9 19 |43.1 14 14 15.9 7.8
BEHIARE
BE | FiE a4 ci1lc2| E @G| L |48 e ouywEs ==
@D | Rc (PT) H1 H2 mm2 (@)
5/32” | M12x1 |MSQR5/32"-5/32" 10.6 | 3.9 | 16.1 9 39.7 14 14 5.3 7.1

5-1.28




EEEAHE R
®RE4EEE — MSQB , MSQJ %71 CHELIC PNEUMATIC

O MSQB 3l BIF2EL#%EE (45F)

NHIFRRE
ER | FE #HiE | AREEE = sQO
il A B C G L
@D M * H mm? (@) —
@4 | M3x0.5 | MSQB 4-M3 | 33 | 153 | 106 | 8 | 17 | 15 2 28
, M5x0.8 | MSQB 4-M5 | 33 | 153 | 106 | 8 | 17 | 25 5.4 33 || MsQO
= 1/8 MSQB 4 — 01 6 | 114 | 39 | 10 |145| 3 7.8 52 | I
@6 | M5x0.8 | MSQB 6-M5 | 33 | 165 | 39 | 10 | 183 | 25 5.4 43
SPCJ
1/8 MSQB 6 - 01 6 14 | 39 | 10 | 172 | 4 13.8 7 el
o0,
BRI sQLJ
| HENER
Pl SQR[J
| e L ¢ | 5132 | M3x0.5 |MSQB 5/32'-M3| 33 | 153 | 106 | 8 | 17 | 15 2 28 || wimm
L M5x0.8 |MSQB 5/32"~M5| 3.3 | 153 | 106 | 8 | 17 | 25 5.4 3.3
| 1L
< 18 |MSQB 5/32'-01| 6 | 114 | 39 | 10 | 145 | 3 7.8 52 | sQOlG
BAHEHEE
SRR
] -
© MSQJ &5 45 %58 tsc
mE
DHIFRE
ER TF® #iEg | BREEE = Qsl]
]
@D M B A B c 26 L H mm?2 (9) AkiEeE
M3x0.5 | MSQJ 4 - M3 3 |123|106| 9 |256| 15 2 3
@4 |M5x0.8 | MSQJ4-M5 | 35 |12.9 | 106| 9 |26.2| 25 5.4 3 QHJ
FENEIRA
PT 1/8" | MSQJ 4 - 01 6 |16.8 |106| 9 | 30 3 7.8 8
26 |M5x0.8 | MSQI6-M5 | 3.5 |157 | 12 | 11 |313| 25 5.4 8 Qv
PT 1/8" | MSQJ 6 - 01 6 |16.4 | 12 | 11 | 32 4 13.8 8 P
QST
HKEIRE ERR
BEEE
@ @ =
PU &
5/32" |M3x0.5 |MSQJ 5/32"-M3| 3 |12.3 |106| 9 |256 | 15 2 3
M5x0.8 |MSQJ 5/32"- M5 | 3.5 | 12.9 | 10.6 | 9 |26.2| 2.5 5.4 3
PT 1/8" | MSQJ 5/32"-01 | 6 |16.8 | 10.6| 9 | 30 3 7.8 8

5-1.29





